

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Rory M. Shaw Fencing and Landscaping

Project ID: FCC0001410

Rids Opened: 10/1/2024

Bids Opened: 10/1/2024 Project Manager: Haitham Ali 626-458-3110

				Engineer's Estimate		(1) Martinez Landscape Co., Inc.		(2) Access Pacific, Inc.		(3) F S Contractors, Inc.		(4) Griffith Compa	
(1) Preliminary Bid Amount			\$2,056,223.00			\$2,393,960.00		\$2,614,895.00		\$2,626,971.00			
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	UNIT PRICÉ OF \$2,500)												
2	CONSTRUCTION SCHEDULE	5	\$500.00	MTH	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
	(UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)												
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	UNIT PRICE OF \$1,000)												
4	IMPLEMENTATION OF THE LTWHP	1	\$30,000.00	LS	\$30,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$9,500.00	\$9,500.00
5	IMPLEMENTATION OF BMPS	1	\$80,000.00	LS	\$80,000.00	\$5,000.00	\$5,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$88,888.00	\$88,888.00
6	OFFICE FACILITIES	5	\$10,000.00	MTH	\$50,000.00	\$7,500.00	\$37,500.00	\$10,000.00	\$50,000.00	\$6,000.00	\$30,000.00	\$9,250.00	\$46,250.00
7	MOBILIZATION	1	\$112,437.00	LS	\$112,437.00	\$145,000.00	\$145,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$256,898.00	\$256,898.00
8	CLEARING AND GRUBBING	1	\$12,000.00	LS	\$12,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$10,000.00	\$10,000.00	\$128,155.00	\$128,155.00
9	CROWN REDUCTION W/	10	\$1,550.00	EA	\$15,500.00	\$800.00	\$8,000.00	\$3,500.00	\$35,000.00	\$3,000.00	\$30,000.00	\$2,850.00	\$28,500.00
	ROOT PRUNING, TREE (13" -												
	24" DIAMETER)		404.00		*****	40.50	407.000.00	440.00	* 40 000 00	***	404.000.00		400 100 00
10	REMOVE EXISTING CHAIN	4200	\$24.00	LF	\$100,800.00	\$6.50	\$27,300.00	\$10.00	\$42,000.00	\$20.00	\$84,000.00	\$22.00	\$92,400.00
	LINK FENCE		\$007.50		#4.040.50	# 500.00	#7.500.00	#000 00	ФО ООО ОО	#500.00	Φ7.500.00	# 400.00	#0.570.00
11	CONCRETE REMOVAL (REINFORCED)	15	\$287.50	CY	\$4,312.50	\$500.00	\$7,500.00	\$200.00	\$3,000.00	\$500.00	\$7,500.00	\$438.00	\$6,570.00
12	UNCLASSIFIED EXCAVATION	112	\$172.50	CY	\$19,320.00	\$175.00	\$19,600.00	\$200.00	\$22,400.00	\$150.00	\$16,800.00	\$204.00	\$22,848.00
13	TRAFFIC CONTROL	1	\$200,000.00	LS	\$200,000.00	\$25,000.00	\$25,000.00	\$80,000.00	\$80,000.00	\$30,000.00	\$30,000.00	\$147,270.00	\$147,270.00
14	LANDSCAPING	1	\$283,356.00	LS	\$283,356.00	\$165,000.00	\$165,000.00	\$280,000.00	\$280,000.00	\$160,000.00	\$160,000.00	\$144,000.00	\$144,000.00

Project Name: Rory M. Shaw Fencing and Landscaping

Project ID: FCC0001410

Bids Opened: 10/1/2024 Project Manager: Haitham Ali 626-458-3110

			Engine	eer's Estimate	(1) Martinez La	andscape Co., Inc.	(2) Access Pacific, Inc.		(3) F S Contractors, Inc.		(4) Griffith Company		
(1) Preliminary Bid Amount			\$2,056,223.00				\$2,393,960.00	:	\$2,614,895.00	\$2,626,971.00			
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
15	IRRIGATION SYSTEM	1	\$360,096.00	LS	\$360,096.00	\$318,500.00	\$318,500.00	\$320,000.00	\$320,000.00	\$150,000.00	\$150,000.00	\$434,343.00	\$434,343.00
16	PLANT ESTABLISHMENT PERIOD	1	\$53,880.00	LS	\$53,880.00	\$10,800.00	\$10,800.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$17,250.00	\$17,250.00
17	TREE PROTECTION FENCING	1	\$14,040.00	LS	\$14,040.00	\$21,000.00	\$21,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$58,000.00	\$58,000.00
18	REMOVE EXISTING CORRUGATED METAL FENCE AND GATES	1	\$20,000.00	LS	\$20,000.00	\$5,000.00	\$5,000.00	\$54,000.00	\$54,000.00	\$42,000.00	\$42,000.00	\$35,000.00	\$35,000.00
19	TUBULAR STEEL FENCE, 8' HIGH	3734	\$220.00	LF	\$821,480.00	\$270.00	\$1,008,180.00	\$250.00	\$933,500.00	\$375.00	\$1,400,250.00	\$235.00	\$877,490.00
20	TUBULAR STEEL FENCE, 6' HIGH	249	\$174.00	LF	\$43,326.00	\$247.00	\$61,503.00	\$250.00	\$62,250.00	\$370.00	\$92,130.00	\$220.00	\$54,780.00
21	TUBULAR STEEL FENCE, 4' HIGH STEPPED	34	\$190.00	LF	\$6,460.00	\$220.00	\$7,480.00	\$230.00	\$7,820.00	\$480.00	\$16,320.00	\$207.00	\$7,038.00
22	TUBULAR STEEL FENCE, 4' HIGH	313	\$90.00	LF	\$28,170.00	\$220.00	\$68,860.00	\$230.00	\$71,990.00	\$415.00	\$129,895.00	\$207.00	\$64,791.00
23	TUBULAR STEEL VEHICULAR SLIDING GATE, 8' HIGH	2	\$35,000.00	EA	\$70,000.00	\$32,000.00	\$64,000.00	\$25,000.00	\$50,000.00	\$19,000.00	\$38,000.00	\$36,000.00	\$72,000.00
24	TUBULAR STEEL VEHICULAR DOUBLE SWING GATE, 8' HIGH	1	\$30,000.00	EA	\$30,000.00	\$30,000.00	\$30,000.00	\$36,000.00	\$36,000.00	\$27,000.00	\$27,000.00	\$29,000.00	\$29,000.00
Unit Price Total		\$2,361,177.50 \$2,056,223.00					\$2,393,960.00	\$2,614,895.00		\$2,626,971.00			
(3) LSBE/DVBE/SE Preference Amount					\$0.00		\$143,935.61		\$143,935.61		\$0.00		
(4) LSI	BE/DVBE/SE Adjusted Amount						\$2,056,223.00		\$2,250,024.39		\$2,470,959.39		\$2,626,971.00
Comments						APPARENT	LOW BIDDER						



Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Rory M. Shaw Fencing and Landscaping

Project ID: FCC0001410 Bids Opened: 10/1/2024

Project Manager: Haitham Ali 626-458-3110

		Engine	eer's Estimate	(5) Kashan Group		(6) Axiom Group							
(1) Preliminary Bid Amount						\$	2,952,710.00	9	3,234,110.00				
• •	t Price Detail												
<u>Item</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00				
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	5		MTH	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00				
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
4	IMPLEMENTATION OF THE LTWHP	1	\$30,000.00	LS	\$30,000.00	\$5,000.00	\$5,000.00	\$15,625.00	\$15,625.00				
5	IMPLEMENTATION OF BMPS	1	\$80,000.00	LS	\$80,000.00	\$30,000.00	\$30,000.00	\$125,000.00	\$125,000.00				_
6	OFFICE FACILITIES	5	\$10,000.00	MTH	\$50,000.00	\$15,000.00	\$75,000.00	\$12,500.00	\$62,500.00				
7	MOBILIZATION	1	\$112,437.00	LS	\$112,437.00	\$80,000.00	\$80,000.00	\$450,000.00	\$450,000.00				
8	CLEARING AND GRUBBING	1	\$12,000.00	LS	\$12,000.00	\$100,000.00	\$100,000.00	\$375,000.00	\$375,000.00				<u> </u>
9	CROWN REDUCTION W/ROOT PRUNING, TREE (13" - 24" DIAMETER)	10	\$1,550.00	EA	\$15,500.00	\$3,000.00	\$30,000.00	\$3,250.00	\$32,500.00				
10	REMOVE EXISTING CHAIN LINK FENCE	4200	\$24.00	LF	\$100,800.00	\$50.00	\$210,000.00	\$18.75	\$78,750.00				
11	CONCRETE REMOVAL (REINFORCED)	15	\$287.50	CY	\$4,312.50	\$4,000.00	\$60,000.00	\$312.50	\$4,687.50				
12	UNCLASSIFIED EXCAVATION	112	\$172.50	CY	\$19,320.00	\$2,000.00	\$224,000.00	\$225.00	\$25,200.00				
13	TRAFFIC CONTROL	1	\$200,000.00	LS	\$200,000.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00				
14	LANDSCAPING	1	\$283,356.00	LS	\$283,356.00	\$220,000.00	\$220,000.00	\$199,310.00	\$199,310.00				

Project Name: Rory M. Shaw Fencing and Landscaping

Project ID: FCC0001410
Bids Opened: 10/1/2024

Comments

Bids Opened: 10/1/2024 Project Manager: Haitham Ali 626-458-3110

			Engineer's Estimate		(5) Kashan Group		(6) Axiom Group						
(1) Preliminary Bid Amount			\$2,952,7		\$2,952,710.00		\$3,234,110.00						
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
15	IRRIGATION SYSTEM	1	\$360,096.00	LS	\$360,096.00	\$480,000.00	\$480,000.00	\$458,750.00	\$458,750.00				
16	PLANT ESTABLISHMENT PERIOD	1	\$53,880.00	LS	\$53,880.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00				
17	TREE PROTECTION FENCING	1	\$14,040.00	LS	\$14,040.00	\$50,000.00	\$50,000.00	\$82,500.00	\$82,500.00				
18	REMOVE EXISTING CORRUGATED METAL FENCE AND GATES	1	\$20,000.00	LS	\$20,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00				
19	TUBULAR STEEL FENCE, 8' HIGH	3734	\$220.00	LF	\$821,480.00	\$270.00	\$1,008,180.00	\$257.50	\$961,505.00				
20	TUBULAR STEEL FENCE, 6' HIGH	249	\$174.00	LF	\$43,326.00	\$250.00	\$62,250.00	\$238.75	\$59,448.75				
21	TUBULAR STEEL FENCE, 4' HIGH STEPPED	34	\$190.00	LF	\$6,460.00	\$240.00	\$8,160.00	\$226.25	\$7,692.50				
22	TUBULAR STEEL FENCE, 4' HIGH	313	\$90.00	LF	\$28,170.00	\$240.00	\$75,120.00	\$226.25	\$70,816.25				
23	TUBULAR STEEL VEHICULAR SLIDING GATE, 8' HIGH	2	\$35,000.00	EA	\$70,000.00	\$50,000.00	\$100,000.00	\$39,287.50	\$78,575.00				
24	TUBULAR STEEL VEHICULAR DOUBLE SWING GATE, 8' HIGH	1	\$30,000.00	EA	\$30,000.00	\$40,000.00	\$40,000.00	\$31,250.00	\$31,250.00				
Unit Price Total			;	\$2,361,177.50	(\$2,952,710.00		\$3,234,110.00					
(3) LSBE/DVBE/SE Preference Amount							\$0.00		\$0.00				
(4) LSBE/DVBE/SE Adjusted Amount				5	\$2,952,710.00		\$3,234,110.00						